Q.1: Forces in one dimension Mark(s): 0/5

The figure shows a ball interacts with a table and with Earth. According to
Newton’s third law, which of the following is an interaction pair?
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a. F Earth's mass on ball, F ball on Earth's mass
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Q.2: Displacement and forces in two dimensions Mark(s): 5/5

If the net force acting on an object is decreased, what happens to its acceleration?
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You may use any of the given constants and equations where needed:

g=-9.8m/s?

A, = Acos6

A, = Asins6
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Q.3: Forces in one dimention Mark(s): 5/5

Which of the following is not true about weightlessness?
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The weight actually equals zero




Q.4: Forces in two dimensions Mark(s): 5/5

The figure shows three vectors L, M and N. Which of the following is true?
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Q.5: Force and motion Mark(s): 5/5

Two dogs are pulling a sled carrying food packages. One dog pulls with a force
of 40 N and the other pulls with a force of 60N as shown in the figure. The
total mass of the sled and the packages is 50 kg. What is the acceleration the
sled?
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Q.6: Displacement and forces in two directions Mark(s): 5/5

Which of the following objects is not in equilibrium?
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car moving in a constant acceleration
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Q.7: Forces in one dimension Mark(s): 0/5

The figure shows a box at rest on a table. There are three forces acting on the box, but it is not moving. Which
one is the normal force
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Q.8: Force and motion Mark(s): 5/5

What is the weight of a mass15 kg box?
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You may use any of the given constants and equations where needed:

g=-9.8m/s?

A, = Acos6

A, = Asins6
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Q.9: Force and Motion Mark(s): 5/5

The figure shows two forces acting on a motorbike, 650 N Forward and 250 N
backward. What is the net force acting on the motorbike?
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Q.10: Force and motion Mark(s): 5/5

A net force of 30.0 N accelerates a block at 6.0 m/s% . What is the mass of the
block?
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You may use any of the given constants and equations where needed:

g=-9.8m/s?

A, = Acos6

A, = Asins6
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Q.11: Forces in one dimension Mark(s): 0/5

A bucket of water with weight of 50N is pulled up using a rope. The bucket is
moving at a constant velocity. what is the tension in the rope?
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Q.12: Displacement and forces in two dimensions Mark(s): 0/5

Salem walks 60m east then he walks 80m south. What is the magnitude of his
resultant displacement?
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You may use any of the given constants and equations where needed:

g=-9.8m/s?

A, = Acos6

A, = Asins6
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100m




Q.13: Force and motion Mark(s): 5/5

Which of the following is a field force?
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Gravitational force




Q.14: Displacement and forces in two directions Mark(s): 5/5

A block is resting on a rough surface. The coefticient of static friction between the
block and the surface is (0.2). The normal force acting on the block is (50 N). What
1s the maximum static friction force that the surface can exert on the block?
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You may use any of the given constants and equations where needed:

g=-9.8m/s?

A, = AcosB
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Q.15: Forces and motion Mark(s): 5/5

What is the cause of all accelerations?
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Unbalanced forces




Q.16: Force and motion Mark(s): 5/5

A net force of 4000 N is acting on a car with a mass of 1600 kg. What is
the acceleration of the car?
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You may use any of the given constants and equations where needed:

g=-9.8m/s?

A, = Acos@
F,=mg
A, = Asins6
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Q.17: Displacement and forces in two dimensions Mark(s): 0/5

Which of the following is the force exerted from one surface on another when there is
no motion between the two surfaces?
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Q.18: Displacement and forces in two dimensions Mark(s): 5/5

Four forces are acting on a block as shown in the figure. What is the net force on the
block?
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Q.19: Displacement and forces in two directions Mark(s): 0/5

The figure shows the free body diagram of a suitcase resting on a rough inclined
plane . There are only three forces acting on the suitcase as shown in the figure,
which one of the forces is the Friction force acting on the suitcase?
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Q.20: Force and motion Mark(s): 0/5

A man with weight 650 N is standing on a scale in an elevator. The elevator is
going up with a constant speed. Which of the following is a correct reading of
the scale?
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You may use any of the given constants and equations where needed:

g=-9.8m/s?

A, = Acos6
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Q.21: Force and motion Mark(s): 5/5

The graph shows the relationship between the force (F) acting on a cart and its
acceleration (a). What is the mass of the cart (m)?
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Q.22: Forces in one dimention Mark(s): 5/5

A skydiver of weight 700 N falls with the terminal speed after opening his
parachute. What is the drag force acting on the skydiver?
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Q.23: Displacement and forces in two dimensions Mark(s): 0/5

A vector R =20 N makes angle of 60° with the negative x- axis as shown in the
figure. What is the component of R parallel to the x-axis ?
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RX= -10 N




Q.24: Force and motion Mark(s): 5/5

Which law states that the acceleration of an object is proportional to the net force
and inversely proportional to the mass of the object being accelerated?
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Newton’s second law




Q.25: Displacement and forces in two directions Mark(s): 0/5

Ahmed is pushing a wooden box with weight of 500 N across a wooden floor at a
constant speed. He exerts a force of 200 N on the box. What is the coefficient of
friction between the box and the floor?
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